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1.  Complete the following sentences with the correct form of the verbs in brackets. 
 1)
a) If Jane  (not/lose) her job as a sales representative in London, she  (not/move) to Edinburgh. 
b) If she  (not/move) to Edinburgh, she  (not/find) a job in a new company. 
c) If she  (not/find) a job in the new company, she  (not/meet) Adam.
d) If she  (not/meet) Adam, they  (not/fall) in love.
e) If they  (not/fall) in love, Adam  (not/ask) Jane to marry him.
2)
f) If Michael's alarm clock  (ring) on time, he  (have) time to have breakfast at home. 
g) If he  (have) breakfast and home, he  (feel) more relaxed.
h) If he  (feel) more relaxed, he  (not/drive) so fast.
i) If he  (drive) slowly, he  (see) the "STOP" sign.
j) If he  (see) the sign, he  (not/crash) against the other car.

2. Rewrite the following as conditional sentences (type III or mixed).
1) She didn’t study hard. She didn’t pass her exams.
2) You didn’t wake me up. Now I’m late for my appointment.
3) She isn’t well-qualified. She didn’t get the job.
4) They didn’t take a map. They are lost now.
5) The driver wasn’t careful. He crashed his car into a wall.
6) I don’t know them very well. I didn’t go to the party.
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